WINCERE

250 Staunton Turnpike, Parkersburg, WV 26104

7700/9900 Series

Vinyl Sliding Patio Door

"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Wincore Sliding Patio Door described herein complies with the 2006 International
Residential Code (IRC), Sections R308.6 and the 2006 International Building Code (IBC),
Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject fo the

following conditions:

1.

2,

Anchors shall be as listed and spaced as shown in the details. Anchor embedment

to base material shall be beyond roof covering.

When used in areas requiring wind-borne debris protection this product is required to
be protected with an impact resistant covering that complies with Section R301.2.1.2

of the IRC and Section 1609.1.2 of the IBC.

Allowable design pressure requirements must be equal fo or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET#

DESCRIPTION

Typical elevation, design pressures & general notes

Horizontal and vertical cross sections

Horizontal and vertical cross sections

Frame anchoring

Glazing details

N[O BAJWIN|—

Bill of materials & components

35.6" MAX.
PANEL WIDTH

29.1" MAX.

~ D.LO.WIDTH |

106.3" MAX. OVERALL FRAME WIDTH

LASNy
n.‘??,: * hlb
SRS i
L S H M
PR S g 4
NN
ouwi T 1
501 iwiv @
{)2\_\_\'-'. § g § i ¢
?{\/A.".. :Cl 5 ..‘
(’(( oo Ez : .
Q&.’g Seed > £
Nprid: f
s

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

96.1" MAX. OVERALL FRAME HEIGHT

91.8" MAX. PANEL HEIGHT
85.4" MAX. D.L.O. HEIGHT

V4

7
V4
17

7/
V4

V4

V4

Vi

106.3" x 81.9"

35.6" X 77.6"

291" X 71.2"

G1, G2, G3

106.3" x 96.1"

35.6" X 91.8"

29.1" X 85.4"

G1, G2, G3

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

PATIO DOORS

7006(1/9900 SERIES
SLIDIN

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ| DATE

DATE: 9/3/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4463

SHEET 1 oF 6

\\2012ess\rwbc\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\Texas 2014\TX-4461-64.dwg, TX-4463

© 2014 R.W. BUILDING CONSULTANTS INC.



‘ON| SINVLINSNDOJ aNigaing ‘m'd L0z @

ZS8LL—d # NOLVMLSIOFY 40 ILVOIdILLMIO SNOISIATY

SY3INIONI TYNOISSIJONd 40 Quvod Svxal mzmﬁw‘momummwmmo A8 31va TON{ - 6_

X M

L616°659°CL8 "'ON ®uoyd : | &

S6SEE 14 O9HIDA 0£Z Xog ‘O'd \&\wg *A18WN3SSY d0 Luvd W NN . M &
*ONI ‘SLNVLINSNOO ONIaTINg = g | 2_

Sd00d OlLvd 9NIdIs o Bl Ele _le
S Fp———— S31¥3S 0066/000/ MEIMME 5
‘3'd WPIWYOS 4 uopuik :Ag peipdesd sjuswnooq :10NAa0¥d b4 W W m 5

CONCRETE

ey

A
X
Lo

rH‘n.r 3

TN

AT S

/~3"\ VERTICAL CROSS SECTION

G1/G2/G3

EXTERIOR

WOOD (SG >=0.42)

18 (17

CONCRETE (MIN. 3000 PSI)

/ DRYWALL

FLOOR SUBSTRATE MATERIAL

INTERIOR

/" 2"\ VERTICAL CROSS SECTION

SHEATHING
EXTERIOR

Y

INTERIOR
40
EXTERIOR

V4

/"1 "\ HORIZONTAL CROSS SECTION

Vi

y
VA

17

q
<5
X
/
/4
=_— ' #
&,
ANCHORING UP TO 106.3" X 81.9" FRAME SIZE

L

SHEATHING

29 ‘BMPH9-T9r-XL\FT0Z sexa1\sBuimeia D9My ‘A\60LT 4d\008T - TOLT [01d\siap|od 128[0ud\s12a0ud - ¥\IGMI\SSBZTOZ\\



‘ON| SLNVLINSNOJ aNIialing *m*'s 102 Q

ZS8LL—d # NOLLVAISIORY 40 3LVOIHILN3O SNOISIATY
SYIINIONI IVNOISSJ0Nd 40 Quvos Svxal mzwﬁ%mumﬂmwmmo Ad 31vd [ON] o & 6_
. . o, - X L M
L616'659°CL8 'ON euoyd : ©
§6S£E "4 OOMIDA 0SZ X08 'O'd \SV@. ‘ATENISSY YO ldvd w5 1 I|6
"ONI ‘SINVLINSNOD ONIQTINg = g | 3_
SY00Q OlLVd 9NITNS Ol |&]&le =
T p—— S31¥3S 0066/000£ " m W m
*3'd ‘IPIWYDS "4 uopuk :Ag peJdpdeud sjuswnooq :19NA0Nd 23 W 5 m z
L
2
o)
S 2
o £ 0
w)O

Ny

®

C~o9) B

L ]
-

=
0]
=~
QO
w
A
L (o]
—= 3
oc
- ()
I
= O
— -Dln
=
w
>
™
G fn)
o ™~ ™
M O
= —
Y o L)
= = ]
=z — e~
[T j = ICIOELE
O e
C=s ._w..« ATUu>
o =0
1% EWS\
o <=n
(<4 _DInEO
&) RL O
- WNR.VW
(—— < x Z
n S 25
E S R ~
@ S .

EXT.

SHEATHING ~\

EXTERIOR

Vi

Vi

52

m HORIZONTAL CROSS SECTION

V4

V4

=

q
&
X
q
ANCHORING UP TO 106.3" X 96.1" FRAME SIZE
[
33 \@> @@@ 50

J

o)

]
=

//

V4

17

1

/

EXT.

SHEATHING

DRYWALL \

£'9 'BMPHI-TOWb-XL\PTOZ SexaL\sBuimesq DaMY ‘d\60LT 4d\00ST - TOLT [01d\s19p|04 178f01d\s12301d - Y\IGMISSSZTOZ\\



\\2012ess\rwbc\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\Texas 2014\TX-4461-64.dwg, 6.4

10.5" MAX. O.C.

(TYP.)

2X BUCK /

FRAME —

"~ SILL (TYP.)
—(G)CONCRETE

WOOD

*)

HEAD (TYP.)

\ MEETING STILES
SHOWN FOR
REF. ONLY

6" (TYP.) »1
1 | 1

(a4)
JAMB [TYP.)

Y

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE (MIN. 3000 PS|)
WOOD (G >=0.42)

7

FRAME ANCHORING

NOTE: One (1) ANCHOR REQ'D @ EACH LOCATION SHOWN

[ ANCHORING UP TO 106.3" X 81.9" FRAME SIZE |

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

J Lé" ) J - |

10" MAX. O.C.
(TYP.)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE (MIN. 3000 PSI)

WOOD (G >= 0.42)

'MIN. CLEARANCE

o = emrERMENT | TO-MASONRY: | -TO ADJACENT

L RN e L icier
ITwW - " . " "
tapcon® | 1/ 1-3/ 1172 4
ELCO . . Py "
uttRacoN®| 1/ 13 2172 3

ST My
LRI E500
Fomiz i X
SN = ., l’/O (’? N
=77 4 SC LA
PJI\‘; E(_) (32 %"_UA q:, N
16" MAX. O.C. Sl P G
(TYP.) 6" (TYP.) o 504 Uiz sk
W, i~ RS
* ¢ (3“/5_". SQ 3 .." N
) ‘/‘. .... s Q‘o:
| 12 § e Ll QL
e T J T — G xix i oS
7 f Nhandees™ "
S
¥ ] (44) £
2X BUCK HEAD (TYP.) °
- JAMB (TYP.) -
FRAME —
FRAME —||ll= SILL (TYP.) o g
CONCRETE| ) sim
\MEEI'ING STILES < =
—-(F )WOOD SHOWN FOR - ==
REF. ONLY fg
T I 1 i
FRAME ANCHORING

NOTE: TWO (2) ANCHORS REQ'D IN PAIRS @ EACH LOCATION SHOWN

[TANCHORING UP TO 106.3" X 96.1" FRAME SIZE |

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

w0
e
EO
Lyl &)
%) W
Ok <
= |2 ES
= =
e (B <
o5 |<
EINT |
ol @ |8
(]
o &
@ <
[a o
>_
o
n
z
o
%]
@
Ll
]_
<
a
o
z

DATE: 9/3/1 4

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4463

SHEET 4 oF 6

© 2014 R.W. BUILDING CONSULTANTS INC.



\\2012ess\rwbc\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\Texas 2014\TX-4461-64.dwg, 6.5

0.5"

GLASS BITE

SILICONE (TREMCO)

=

— 1"THICK GLASS
[ = /8 TEMPERED
S5~ AR SPACE

N
t ~~_ 1/8" TEMPERED

)

INTERCEPT SPACER

GLAZING DETAIL

GLASS BITE

0.5"

=

C

(::) GLAZING DETAIL

\TRISEAL 5/8" SUPER SPACER

0.5"

GLASS BITE

SILICONE (TREMCO)

=|

@)

GLAZING DETAIL

— 1" THICK GLASS

1/8" ANNEALED
. 0.030" SAFLEX® PVB INTERLAYER

S ~~—1/8" ANNEALED

AR SPACE
1/8" TEMPERED

SILICONE (TREMCO)

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

— 3/4" THICK GLASS

P 1/8" TEMPERED

S ~— AR SPACE

1L

)
? S~ 1/8" TEMPERED

INTERCEPT SPACER

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By:

Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

o &
) fa
xO =z
%) L
o |., O
o= >
o< |z ©
S |3 =
No o N
|8z |9 S
.09 | ©
5% |
2 o
,_
o
4 S
(a8 [a
>_
o
(%)
pd
o
n
x
Ll
l_..
<
o
o
z

OATE: 9/3/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4463

SHEET 5 oF 6

© z20o1 4 R.W. BUILDING CONSULTANTS INC.



BILL OF MATERIALS W
oy, “H
ITEM # | DESCRIPTION MATERIAL Sried 6’311 ! N EE @
B | 2X FRAMING (G >= 0.42) WOOD . Sreeriziviph, Y|BS00 U8
C | 1/4"MAX. SHIM SPACE - . i o Ba AT %% N [%u ¢R 87
E | #10 PPH WOOD SCREW (1-3/8" MIN. EMBEDMENT REQ'D INTO WOOD) STEEL 108" j=— & ”‘ 108" = & f"fff% foia R Ky sEB By
174 ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT REQD. »‘ T S $oi PN iz i3 §§ g% 37
2| o concerg T il | 2 T §F 58 58
Y " ?g‘i{.'.. Ha 2>5mw @
1| FRAME HEAD* PVC 0.08" ——fi~— 085" —-p— I ER . 298 ?E
2 | #8x2-3/4" FH QUADREX WOOD SCREW STEEL L — i rid i & od: EP
3 | WEATHERSTRIP (SCHLEGEL #HF-7522-270) i REINFORCEMENT 3 OZ48, by
5 | STILE &RAIL* PVC 50)c:o @M 53) REINFORCEMENT & 3508 Bu
6 | FIXED MULLION* PVC Sfte & m§ 38
9 [SHIM - £ 2t
10 | TANDEM WHEEL NYLON : pe
11 | ROLLING RAIL ALUM 5.44" ]
12| S PVC ' .
13 [ SILL DUST COVER* PVC >
14| SILLPLUG NYLON (}JW "\’E\' E = —r ol o
15| SILL WEATHERSEAL - : B S | 2w
17 | LEFT CAP FOR SILL ADAPTER* PVC e B ot o el E oo T =8 | Ez
18 | RIGHT CAP FOR SILL ADAPTER* PVC H j ? U et — o2 |3 €3
19 | #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL d B b SR EME
20 | OUTSIDE SILL CLADDING STEEL O ° [0 (5)e Ra e |@es
22 | INSECT STOP - . S8 |3 g%
23| SCREEN - @w 5~a g ©
24 | #8 X 7/8' PAN HEAD, QUADREX, SCREW STEEL S g
25 | FIXED PANEL ANCHOR BLOCK* PVC & &
26| ANCHOR STRAP STEEL >
27 | SCREW CAP* PVC 157"~ =
28| GLAZING BEAD* PVC ’* - | L
29 |FOAMPLUG : R |
30 | HEAD WEATHERSEAL - ] = — 201" |
31 | #8 X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL 0.08" 8 OOSL”—_, _ i | |
32 | SASH STOPPER EPDM i [T Z
33| WEATHERSTRIP - 1 I i 5 | IR— G
34| FRAME JAMB* PVC o
35 | WEATHERSTRIP - @ VERTICAL MULLION ﬁ -
39 | HANDLEKIT STEEL @LSTILE
40| VERTICAL MULLION® PVC : C=
44| #10 PPH WOOD SCREW (1-3/8" MIN. EMBEDMENT REQ'D INTO WOOD) STEEL - | 3
46| STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL ' | < .
47 | SASH COVERING CAP* PVC - =
48| LOCK PLUG* PVC . | _
50 | STILE REINFORCEMENT STEEL = ‘,\—Ar 087 =) o
51 | #8 X 2' TRUSS HEAD QUADREX SCREW STEEL S O y——
52 | INTERLOCK* PVC t [ s e /A}Z?
53| STILE REINFORCEMENT STEEL TR
54 | Q-LON WEATHERSTRIP [SCHLEGEL NO. QEZ 345) = I % e
*THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE (34) FRAME Jabt DRAVING o
PRODUCED BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR Q@w ‘ TX—4463
RIGID PVC EXTRUSIONS". — e

\\2012ess\rwbc\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\Texas 2014\TX-4461-64.dwg, 6.6

© 2014 R.W. BUILDING CONSULTANTS INC.



